QUESTION FROM JAN 05 PAPER ON THE ASTRONOMICAL TELESCOPE

(a) Draw a ray diagram for an astronomical refracting telescope in normal adjustment. Your  diagram should show the paths of three non-axial rays through both lenses. Label the principal  foci of the two lenses.

(b) Figure 2 shows an astronomical telescope made from two cardboard tubes of slightly different diameter, two convex lenses of focal lengths 0.10 m and 0.50 m respectively and some modelling

clay.
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(i) Calculate the distance between the two lenses when the telescope is in normal adjustment.

(ii) The Moon is 380 000 km from the Earth and has a diameter of 3 500 km. Calculate the

angle subtended by the image of the full Moon when viewed through the telescope.

(iii) The telescope suffers from chromatic aberration. Describe how this affects the appearance

of the image.






